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COST AND MANAGEMENT ACCOUNTING

T Td Uoel eidieh
Master of Commerce (M.Com.-10/16)
Second Year, Examination-2019

Time Allowed : 3 Hours Maximum Marks : 80

Note : This paper is of Eighty (80) marks divided
into Two (02) sections A and B. Attempt
the questions contained in these sections
According to the detailed instructions given

therein.
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Section-A/@US- ‘e’
(Long Answer type Questions/a® 3TT U)

Note: Section-'A' contains Five (05) long Answer type
questions of Fifteen (15) marks each. Learners
are required to Answer any three (03) questions

only. (3x15=45)
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1. It has been said that " a good costing system is
an invaluable aid to management." Enumerate

the chief points in support of this statement.
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2.  Describe various methods of pricing the issue of
materials. Which method would you recommend
for adoption in cases where pricing of raw

material seldom changes?
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3. 500 units are introduced into a process at a cost of
rupce are each. The total additional expenditure
incurred in the process is Rs. 300 of the units
introduced, 10% are normally spoiled in the
course of manufacture, these process a scrap
value of Rs. 0.25 each. Owing to an accident,
only 400 units are produced. You are required
to prepare (a) process Account and (b) Abnormal

lon Account.
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4. From the following data, Calculate :
(a) B.E.P. in rupees of sales

(b) Number of units that must be sold to earn

a profit of Rs.60,000 per year

(c) How many units must be sold to earn 10%

of sales?
Sales Price Rs. 20 per unit

Variable manufacturing cost Rs. 11 per unit

Variable selling cost Rs. 3 per unit
Fixed Factory overhead Rs. 5,40,000 per year
Fixed selling costs Rs. 2,52,000 per year
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5. Explainthe term 'Budgetary control' and mention
some of its advantages. On what does the success

of such control depend?
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Section-B/@Us-@
(Short answer type questions/ T I TIT)

Note: Section -B Contains Eight (08) short Answer type

questions of Seven (07) marks each. Learners
are required to Answer any Five (05) questions
only. (5x7=35)
: @Ue-'E' H 8 (08) oY Iud TeA W Tm
gl Y% Y & fau | (07) 3w fuifa ©
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Explain briefly the meaning of the terms fixed,

semi-fixed and variable overhead costs giving

examples of each.
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"Job costing is more accurate than process

costing." Comment.
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3. Explain briefly the terms 'standard cost' and
'standard costing'. Enumerate the advantages of

standard costing.
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4. What is Cash Flow statement? State its uses.
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5. Whatisratio analysis? Discuss the various ratios
that are generally calculated to determine the

liquidity of a business organization.
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6. Explain and distinguish total cost approach and

Marginal cost approach of profit computation.
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7. Explain clearly as how is cost accounting helpful

in decision making?

YA : GUART o @ o g o= § fea

YR TETTF 87

8. What do you understand by 'variance analysis'?
Bring out clearly its importance as a tool of

control.
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